(x—4-y)(x—-y)E AN AL?

D x*—y?—4x+4y —xy @ x*+y? —4x+4y+xy
(@)x2+y2—4x+4y—2xy @ x% —y? —4x -4y + 2xy

® x2+y? +4x+4y - 3xy

=x? - 2xy +y? —4x + 4y
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(x+ B)? = x* + 2Bx + B*°]1L
X2+ 2Bx+ B2 = x®— ldx + AO|D2
2B=-14 ..B=-T
LA=B2=(-7)2=49
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6x* - 17x—A 7t x -3 & & 7Hd o, e 55
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o2 Ql4E gx + b} 51H

(ax+b) (x-3) = ax*> + (b -3a) x — 3b
=6x2 — 17x — A A]

a=6

b-3a=-17, b=1
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5. x| tgtolaAA Ax2 + 7x+B O Q15T x+3,3x-2L9 ), A+ B
o] Zf& ohH?

® 3 @ 6 @0 @-3 © -

~&B ‘

Ax?+Tx+ B = (x+3)(3x-2)
Ax®> +Tx+B=3x>+7x-6
A=3, B=-6

L A+B=-3




6.

(x+2y)% - (2x—y)? & A7NsHA?

D -3x% + 3? @—3x2 + 8xy + 3y?
® x% +2xy +y? @ 3x% —8xy + 3y?

® x%-3xy+y?

(x+2y)% - (2x-y)?
= (&% + dxy + 49°) = (0% = dxy +)?)
= —3x2 + 8xy + 3y?
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(x+3)(x+a) = x>+ (a+3)x+3a 7t x> + bx - 12 0| B2
a+3=b,3a=-12 o|th.

et a= -4, -4+3=b, b=-1°Jc}
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> E
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(x—a)(3x+5) = 3x*> + (5 - 3a)x — ba




9. x+y=3 xy=—-44 0 x?+y%-xy9 g2?

O 18 @ 19 ® 20 @21 ® 22

X = xy+y = (x+y)? - 3xy
=32-3x(-4)
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-y =(x+y)(x-y)
V3 + «/§+ V3- 2
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